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QUESTION 1

When is an INTENT EXCLUSIVE (IX) lock required? 

A. When a transaction intends to read or change data. 

B. When a transaction intends to change but not read data. 

C. When a transaction intends to read but not change data. 

D. When a transaction intends to change the system catalog. 

Correct Answer: A 

 

QUESTION 2

What type of large object (LOB) is used to store LOB data together with the formatted rows on data pages, instead of in
a separate LOB storage object? 

A. inline 

B. binary 

C. internal 

D. partitioned 

Correct Answer: A 

 

QUESTION 3

If a user has been granted SYSCTRL authority, which activities can they perform? 

A. Load operations 

B. Backup/copy table spaces 

C. Create and drop databases 

D. Monitor database performance 

Correct Answer: C 

 

QUESTION 4

The EXCLUSIVE MODE option of the LOCK TABLE statement is used to prevent which of the following? 

A. Concurrent application processes from performing any operations on the table. 
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B. Concurrent application processes from performing any read-only operations on the table. 

C. Concurrent applications processes that are running under the cursor stability (CS) isolation level from performing
read-only operations on thetable. 

D. Concurrent applications processes that are running under the uncommitted read (UR) isolation level from performing
read-only operations onthe table. 

Correct Answer: A 

 

QUESTION 5

After creating several new indexes and executing RUNSTATS, user USER1 wants to re-create a package that is stored
in the database so it will take advantage of the new indexes. Which authority/privilege must user USER1 be granted in
order to re-create the package? 

A. BIND 

B. REBIND 

C. BINDADD 

D. BIND_REBIND 

Correct Answer: A 
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